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ECE 2201 – Quiz #5
November 9, 2017

[bookmark: _GoBack]
Keep this quiz closed and face up until you are told to begin.

1.  This quiz is closed book, closed notes.  You may use one 8.5” x 11” crib sheet, or its equivalent.
2.  Show all work on these pages.  Show all work necessary to complete the problem.  A solution without the appropriate work shown will receive no credit.
3. Show your work clearly. If the grader has difficulty following or understanding your work, you will lose credit.
4.  Show all units in solutions, intermediate results, and figures.  Units in the quiz will be included between square brackets.
5.  Do not use red ink.  Do not use red pencil.
6.  You will have 30 minutes to work on this quiz.

Room for extra work
[bookmark: OLE_LINK1]
	Use the node-voltage method to write a complete set of equations that could be used to solve this circuit.  Do not simplify the circuit.  Do not attempt to solve or simplify your equations.  Define all variables.
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ECE 2300 -- Quiz #4 – March 7, 2012 – Solution
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Use the node-voltage method to write a complete set of equations that could be used to
solve this circuit. Do not simplify the circuit. Do not attempt to solve or simplify your

equations. Define all variables. [ - T — -
—— — -~ — = — T isg=16[S] vy -
/’ ® R-12ie) (B)  Re9) R
e Rot00]
vo= SIQ iy © )
+ v
~ n - + )
v N * )
6 e -
- - - - _ c —
Ry= Ry= - =
2[Q] is/= 3[Q] Vss= 4[Q)
9[A] 15[Q] iw
® +
: “ e
. G @,
TI_\/ Vx
R¢=
v e 8[Q]
Vsi= -
s vs=7[V]
+
B Ry =11[Q]

T}'\€(‘€ anre l7 QSSCJ‘ntl\a( noa(eS‘J 0\"\(1 L/ Uﬁf)\&blej
'[IL\a't dEPemﬁe/\f Souwces de/oe,,o( on, .foJ we will

heed to wrte T7-)+4 = [0 é?ua'ffOn.S,
We write ec]uatrom only after the rode voltages

have been defined. TAey have been defoned I
the Aiajl‘am above. Coe next
pese




image3.png
GO G i | at s

Up ~Ug = 3§y
Ve ~Up= Sa] iy
Up ~U"
,Dhﬁ,l_u-é‘U”B +9[A}+£+i-

13 i3 il sra3

Vg -Up = /0Ux
B Up= isiad tw

@ [x +708-Ve  e+73 o
8§} nis3 o7 ©

@ lw t16fs)v,, + Uet7L0) ; UZ-UE-_

11 {3 m =0
@ Uw = —U_E
@ [fx —(IG[S]JW>10[)'2_] +U'C —S’[VJ:O

This s 10 ecru.at:‘on.( in

|0 unkaowns,




